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' APREVIEW #1A
. ¢ Work the following on notebook paper, showing all work, Ne cal .
1. The graph of the function £, consisting of three line segments, is .W X) ey ‘{x)
shown. Let g(x)= [* f(r)ar. ¢
(a) Compute g(4) and g(-2).

(b) Find the instantaneous rate of change of g, with respect to x,
at x=1,

A“' s

(¢) Find the absolute minimum value of ¢ on the closed interval (=2, 4]. £
Justify your answer.
(d) The second derivative of g is not defined at x =1 and x= 2. How

many of these values are x-coordinates of points of mﬂcctmn of the
graph of g? Justify your answer.

]
L :,j

-

:-""'""'

b -
r
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Which ot the following represents the area of the shaded region in the figure abov e?

(A) 5 £y dy @D = FxN (©) £V F (@)

(D) b - n‘)_*ﬁ_h) = f{a)) () (@ ~ LAY -~ fla))

3.If x*+3xp+2y' =17, thenin terms of x and », —’—\--: Ay ;. ’))( ‘U fjj"{p(j 11’%

x‘z+y _‘.2+). . .t3+_)' P +‘ ------ &
x+zy2 By Oy Oy ”ﬁ:‘"?ﬁ’(éij) iy
y ) ESSRAECIRT Nk i
=4l st “ S—d-" =\ widuz U0 2 Ak ¢C hE
du'"fb;?df et Tl

vt e

5. For what value of x does the function I(\) (\'* 2)(x~=3) havea relative maximum?

s ® -3 ‘C’"“ ) 3 (l)-— $'+ 0 e INE
i L 4‘ AS hf*m"”?}
Nx) ('x«-;l)?(x ’b)w \
b A 2)4\ g) o e
ZxofAYen 0 o2 N
X T S Aol e
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6. Let f beafuncuon with (1) =4 :.uch that for all points (x, y) on the graph of /the slope is

{
~given by 3 . M %}« (’
2y
(a) Find the stope of the graph of f at the point where x = 1.

(b) Write an equation for the line tangent to the graph of f at x = 1, anduse it to approximate

(ST 3’__#.()) w=. 044 = [

2
(¢) Find j (x) by solving lhg scparable @cwmml equation Z}\: G with the initial

Y
condition f(1)=4. Qd‘ﬁ =X 'HM S )(3})( t (.

(d)l’se your solution fmmmn(c) to find f('“l R e N e & I
_____ ﬁ\"-ﬂ(* f{fé\\' 021241 ﬂ’;ﬂ__.

1.1f f(’) - ‘im&%) then there exists a number ¢ in the interval -_; <x< 9,,, lhm satisfics the fm
Londusmn of lhe Mcan Value Theorem. Which of the tollowmg could be ¢" ( ( m ({ ﬂ S ! (

’,.—ﬁ"’"

2 Srr .
(A) 3 (B) -‘i" (C) — &DL‘) (E) = -—_;' (A

BAF f(x)=(x-1) sinx, then /'(0)= £1x)- ({f, Yos Xt Skl

M-2  B-1  (©0 @ B2 LYoy 1]+ O

et v

————————— AT S A

9. The acceleration ofn particle moving along the x-axis at time 1 is given by u(:) =602, lflhc
velocity is 25 when £ = 3 and the posmon is 10 when = 1, then the position x(r)=

(A) 9% +1 (B)3? -2+ 4 [l) “rdt+6 (D)= 49u-20 (F) 36 ~ 412 - 77t +55

e i T AT T € A e A

10. < [!sos(2ay)u is

(A0 (B) ;};sinx (C) -;‘-;cos(erx) (@0&(27&'\:) (E) 27 cos(27x)
% . Coinde 4 f{{) d‘/ _Xd,,‘x L
11, fof (x)ee = Sadv=uv = VI fu=ffa v = x2 ¢
s
(A) x f(x)- [x S (x)x .f-f(x) j-—; (x)dx (€) xf(x)—--——-f(x)+(
4] * (‘ y 3 X}' 7
(D) xf(x)- [ () (E)—i-jf(x)dr 1; {(x\ - )4. (x) 5 AX

12. What is the minimum value of f(x)=xInx?

(A) ~¢ (B) —-l @«- - (D)o (E) f(x) has no minimum value.

of ¥= -—ly = —‘T have a point of inflection?
s T
(M3 (F) At no value of x
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